Errata for the SOLUTIONS MANUAL for the textbook “Probability and Statis-
tics — The Science of Uncertainty”, Second Edition, by M.J. Evans and J.S. Rosen-
thal. As of Fall 2025.

(These errata will be corrected in the online version later.)

e Problem 1.6.6: The first “(0,1/2)” should be “(0,1/2]”

e Exercise 1.5.12: The second sum should start at d = 2, not d = 1.

And for the BOOK ITSELF:

e Page 31, exercise 1.6.6(a): “for all n = 1,2,3,...” should be “for all sufficiently large
n” or “for alln =2,3,4,...7.

e Page 50, exercise 2.3.20: Specify that the values of X each time the loop is executed
are “independent”.



